
                                   10th- (Mathematics) 

Weekly-LO Based work Sheet for NAS preparation-4 

 
 

1) ਚਚਿੱ ਤਰ ਚ ਿੱ ਚ ∠PTQ ਦੀ ਮਾਪ ਕੀ ਹ੅ ੃ਗੀ I  
        What is the value of ∠PTQ in given figure?   

    a) 600        b) 700        c) 800            d) 900 

 

 

2) ਚਿੱ ਕਰ ਨੂੂੰ  ਦ੅ ਚਬੂੰ ਦੂਆਂ ਤ੃ ਕਿੱ ਟਣ  ਾਲੀ ਰ੃ਖਾ ਨੂੂੰ ________ ਕਚਹੂੰ ਦ੃ ਹਨ।            

      A line intersecting the circle at two points is called  ________.   

     (a) ਛ੃ਦਕ ਰ੃ਖਾ /Secant line   (b) jIvw /Chord     (c) ArDivAws /Radius      (d) ivAws /Diameter

  

3 )  ic`qr iv`c ∠P pqw kro[)In fig. find ∠P.  
a) 250   b) 200           c) 300              d) 400    

 
 

4) Find the length of line XY in the diagram below.    

   ਚਚਿੱਤਰ ਚ ਿੱਚ XY ਦੀ ਲੰਬਾਈ ਪਤਾ ਕਰ੉। 
(a) 57.72  cm     (b)   43.72 cm         

   (c)  71.72 cm         (d)  not possible ਸੰਭ  ਨਹੀਂ 

5)    ਦ੅ ਸਮਰੂਪ ਚਤਿਭੁਜਾਂ ਦੀਆਂ ਭੁਜਾ ਾਂ 4:9 ਦ੃ ਅਨੁਪਾਤ ਚ ਿੱ ਚ ਹਨ।ਇਨਹ ਾਂ ਚਿ੍ਭੁਜਾਂ ਦ੃ ਖ੃ਤਰਫਲ ਦਾ ਅਨੁਪਾਤ ਕੀ ਹ੅ ੃ਗਾ ? 

        The sides of two similar triangles are in the ratio 4:9  . What is the ratioof area of these  triangles ? 

        (a) 2:3         (b) 4:9              (c) 81:16        (d) 16:81 

 

 

6) In the given fig.  P, Q and R are the points of contact. If AB = 4 cm, 

BP=  2  cm  then the  perimeter  of  ∆ABC  is 

ਚਦਿੱਤੇ ਗਏ ਚਚਿੱਤਰ ਚ ਿੱਚ  𝐏,𝐐 ਅਤ ੇ𝐑 ਸਪਰਸ਼ ਚਬੰਦੂ ਹਨ। ਜੇਕਰ AB = 4 cm, BP=  2  cm ਤਾਾਂ 

∆ABC ਦਾ ਪਚਰਮਾਪ ਕੀ ਹ੉ ੇਗਾ : 

(a) 12  cm (b) 8 cm   (c) 10  cm  (d) 9  cm 
 

7).ਹ੃ਠ ਚਲਚਖਆਂ ਚ ਿੱ ਚੋਂ ਚਕਹੜੀ ਚਜਸਤ ਸੂੰ ਚਖਆ ਹ੄ ? 

Which of the following is an even number  ? 

(a)    2q+1           (b)   4q+3(c)   2q            (d)  6q+5 

 



 

8) .ਹ੃ਠ ਚਲਖ੃ ਪਿ੃ਖਣਾਂ ਨੂੂੰ  ਚੜਹਦ੃ ਕਿਮ ਤਰਤੀਬ ਕੀਤਾ ਚਗਆ ਹ੄ ਜ੃ਕਰ ਅੂੰ ਕਚੜਆਂ ਦੀ ਮਿੱ ਚਿਕਾ23ਹ੅ ੃ ਤਾਂ Xਦਾਮੁਿੱ ਲ ਪਤਾ ਕਰ੅ 
         The following data has been arranged in ascending order : if median of the data is 23. find X  

          12, 14, 17, 20, 22, X, 26, 28, 32, 36  

         (a)   20       (b)  22         (c)  24             (d)   26 

 

9) smIkrx (a-b)x2 + (b-c)x + (c-a) = 0 dy mUlW dw guxnPl hY[ 

      Product of the roots of the equation  (a-b)x2+(b-c)x +(c-a)=0 is   

      (a)    
𝒄−𝒂

𝒃−𝒂
   (b) 

𝒃−𝒄

𝒂−𝒃
                    ( c) 

𝒄−𝒂

𝒂−𝒃
               (d) 

𝒃−𝒄

𝒃−𝒂
 

10) ਚਦਿੱਤੇ ਗਏ ਚਚਿੱਤਰ ਚ ਿੱਚ, O ਚਿੱਕਰ ਦਾ ਕੇਂਦਰ ਹੈ। PA ਅਤੇ PB ਚਿੱਕਰ ਦੀ ਸਪਰਸ਼ ਰੇਖਾ ਾਾਂ ਹਨ ਤਾਾਂ   

∠AQB  ਬਰਾਬਰ ਹੈ : 

         In  the  given  fig.   O  is  centre  of  the  circle, PA  and  PB  are    

tangents  to the  circle,  then ∠AQB  is  equal  to:  

        (a) 70°                        (b) 80°         (c) 60°  (d) 75° 

 

 


